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4a® — b 4 10a — 5b
! Haiimure 3HaUeHWE BBIPAKEHUS a(2a n 2;2 _a25 mpu a = 0,3; b=0,1. /
4a® — b? 4+ 10a — 5b |
Calculate a+ 0225 ifa=0,3;0=0,1.
7 5 5 7 7
1| —— - 3| = — 5] ——
1 43 43 3 57 57 5 53
2 | Boruuciuts 3navenue Buipazkenus 54, 4-43,2—25,6-18,2—27,2-36, 4425, 6-43, 2.
/ Calculate 54,4 - 43,2 — 25,6 - 18,2 — 27,2 - 36,4 + 25,6 - 43, 2.
3980,16  [2] —2000 2000  [4] 5712 200
3 | Yrob6nr nonyuurs 14% pactsop conu u3 3 i1 18%-ro pacrsopa, K Hemy 11%-ro
pacTBOpa Hy?>KHO JI0JIUTh B KoJmdecTse (B surpax) / To obtain a 14% salt liquid
from a 3 118% liquid, how many liters of 11% liquid you need to add?
1 : : ! :
2 22 2
4 Brraucants (Q) , ecJn _TTY _ _ / Calculate (Q) , ecun
x (2z+y)* —y? x
2?2 — 2
2z +y)? —y*
1
1| — 2| 4 3| —1 4| —4 5 1
op
5| Ilpsambie y = a?z+ 11y —x —a =0 He mmeror obmux Touek, ecm / The lines
y=a?z+1 and y — z — a = 0 have no common points if
a=-1 a==+1 a=2 [4]a=1 a=+2
“1p—abt
6 Boeipazkenne ab_lia_l mpu a = —/3 4+ 1, b = —/3 — 1 pasuo / The
—a
—lb _ b—l
expression ab_lia_l for a = —V/3 + 1, b= —V3-1 equals
—a
[-»3 (2 [ @22 [l24
7 | Conasuim asa ciutka 30i10Ta ¢ cepebpom. Macca mepBoro canTka — 4 Kr, KOJIi-
YeCTBO 30J10Ta U cepebpa B HEM HAXOJAUTCH B oTHomeHun 3 : 5. Macca BToporo
cautka — 6 Kr, a oTrHomIenue 3050ta u cepebpa — 1 : 3. Ilponenrroe conepxka-
HEE 30JI0Ta B HOBOM ciuiase paBHO / Two ingots of gold and silver were alloyed.
Mass of the first ingot — 4 kg, the amount of gold and silver in it is the ratio
3 : 5. The mass of the second ingot is — 6 kg, and the ratio of gold and silver
is — 1: 3. The percentage of gold in the alloy is
25% 18% [3] 30% 14% 10%

2 2
-2 -2
8 BorancmTs %2_’_2 mpu r = 6 + 4/2 / Calculate ; j—;; ) for ¢ =
6+4v2
1 1
Hv: B B-L @z [ieoe
V2 V2
9 | Iepumerp npsimoyrosibauka paBeH 18 cM, a cyMMa ILION@IeHl KBaJIPATOB, I10-
CTPOEHHBIX Ha JIBYX CMEKHBIX CTOPOHAX MPSMOYTOIBHUKA, paBHa 45 cm2. Bosb-
nrasi cropoHa npamoyrojibuuka pasaa / The perimeter of the rectangle is 18 cm,
and the sum of the areas of squares built on two adjacent sides of this rectangle
is 45 cm?. The longest side of the rectangle is
7CM/7cm |z|5CM/5cm 9(:M/90m
2(:M/2cm 6CM/6cm
10| Pemennem ypasuenns 2z — (3 — x) + ax = —3 sBisercsa Jyoboe 9UCIO, ecan /
The solution to the equation 2z — (3 — x) + ax = —3 is any number if
[ -3 ] o-3 [ a- -2
a=2 TAKOro @ He cylmecTByeT / no such a
11| Pasmocts Mexjy HambOJBIIAM ¥  HAWMEHBITUM KODHSIMHU YDABHEHUS
199923 — 8222 — 1917z = 0 cocrasnser / The difference between the largest
and smallest roots of the equation 199923 — 8222 — 1917z = 0 is
3916 82 3916 2081 2081
1] =— — 3| —— 4| —= 5| ——
1999 1917 3 1917 4 1999 5 1917
12| IIpoussenenne Kopmeit ypasuenus x2 + v2 — 30 = 0 pasno / The product of
the roots of the equation 2 + v22 — 30 = 0 is equal to
0w [Rlwo [Eows @1 [
13 12,6 — 3,6z
CyMMa KOOpIMHAT TOYKH IEpecedeHusi UPSIMBIX Y = —oaz "V =
3,4—0,4 ’
,376730 paeHa / The sum of coordinates of the point in which the
o , 12.6 — 3.6z 3.4 — 0.4z ,
intersection of lines y = ——— and y = ————— appears, is equal
; 0.4 3.6
0
H: [  [Es @ [@a
14| Yucso pemennii ypasuerus /(z — 2)2 — 6|z — 2| + 9 = a npu a € (1;2) pasHo

/ The number of solutions of the equation \/(z —2)2 — 6|z —2[+9 =a for

a € (1;2) is equal to
1 E' Her pernrernii / no solutions 3 4 2
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23| O6nacts onpezesienns Gynkuun y = 4/logg 5 ITH COBIIQJIAET C MHOXKECTBOM /
The domain of the function y = /log 5 ! coincides with the set
(0:+00) [2] (=1:00U©:1) [8] (~1:+o0) [4] (oei-1) [5] (-1:1)
24 cos 20° — sin 50° cos 20° — sin 50°
op ————M———— Calculate ——————
AHpobo cos 280° papia / Caleulate cos 280°
(g 300 (15 S T %
25] Bee pelieHusl HepaseHCTBa log g1 rt2 > 0 obpasyroor muOxkecTso / All
T éf— 5
solutions of the inequality log 47 % > 0 form the set
(-5:+00) [2] (~ocs—5) [8] (-5:-2) [4] (-2+00) [5] 0
26| Haiitu tg«, ecau |cosa| + cosa = 0 u sina = —0,6 / Find tga if |cosa| +
cosa =0 and sina = —0.6
0,9 [2] L@ -0,75  [4] -1,(3) 0,75
27| Muoxecrso 3Hauennii byukuun y = |z + 1| - (z — 1) npu x € [—1;2] coBnagaer
c orpe3koM / The set of values of the function y = [z + 1| (x —1) for z € [—1; 2]
coincides with the segment
13 [2] o [3] (053] 0;2] [-2;0]
28| Vpasuenue V1 — x? = |z — a|, rae a > 0, uMeeT €AMHCTBEHHOE PENICHNE IIPU d,
pasaom / The equation /1 — z? = |z — a|, where a > 0, has the one root for a
equal to
@ s @ /3
29| Bce smadenms a, Tpm KoTophix rpabwukn bymkmmit y =22+ |2|+4 n
y =420 — 2% + 2 + (/a)? nepecexaioTcs HedeTHOe KOJMIECTBO Pa3, PaBHBI
/ Find all values a for which the graphs of functions y = 2% + || +4 and
y =420 — 2% + 2 + (\/a)? intersect odd number of times
4, —4 Takoe HEeBO3MOXKHO / it is impossible 0 Izl 2 4
30| Ecmu f(z) = Inctg §, To f/(g) pasusercs / If f(x) = Inctg &, then f/(g) equals
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15| Bce pemenus mepasencrBa /1 —x > +/x +4 obpasyior muoxecrso / All
solutions of the inequality /1 — x > +/x + 4 form a set
vD By By [isd Bied
16| Ecuu dbyskuus f(z) onpesesena npu BceX T W MMeeT HauMeHbIlee 3HAYEHMUE,
paBHoe —2, To Haubosbmee 3uavenue byukuu y = —4 - f(3x + 1) — 5 pasno /
If the function f(z) is defined for all x and has the smallest value equal to —2,
then the largest value of the function y = —4 - f(3xz + 1) — 5 equals
[: s B> @[ [
17| O6aacts oupenenenus dbynkmyun y = /(22 — 4)(3 — z) coBuagaer ¢ MHOXKe-
crBoM / The domain of the function y = /(22 — 4)(3 — ) coincides with the
set
[~2;2U3; +o0) [2] (—o0i-2]U[2:3) (22:3)
[4] (—o0;2]U[3; +o0) [3; +00)
18| O6mnacrs onpenenenus: GyHKrImu y = /22 — 4|z| + 3 coBuaaer ¢ MHOXKeCTBOM
/ The domain of the function y = /22 — 4|z| + 3 coincides with the set
(—00;3) [2] (—o0; 1] UI3; +00) (—o0; 1) U(4; +00)
[4] (3;+o0) (—o0; =3]UI-1; 1] UI3; +o0)
19] Bee pellieHns HepaBEeHCTBA 3 > 3 obpaszyior muoxkecTso / All solutions
x— x—
2
of the inequality BN form a set
r—3 x—3
(1.5:3)[2] (1,5;+00)[8] (3:+00)[4] (~00:3)[5] (~00:1,5)U(3; +0)
20| Ilapabosa y = 2?2 +ax +x+4 ne nepecekaercs ¢ ocbio Ox IpHU BCEX 4 U3 MHO-
sxecrsa / The parabola y = z2 + ax + z + 4 does not intersect the Oz axis when
all a are from the set
(—5:3) [2] (—o053) [8] (3:+00) [4] (=3;5) [5] (o0 —5)U(3; +oc)
21| Ecmu (22 — 2z +4)(y? — 4y + 11) < 21, 10 * + y pasno / If (22 — 22 + 4)(y? —
4y + 11) < 21, then z + y equals
s Bk i )
22| Bce pemenns HepasencTsa Va2 — 2z + 1 4+ Va2 + 22 + 1 < 4 06pasyor MHO-
secrso / All solutions to the inequality Vo2 — 2z + 1 + V22 + 22 + 1 < 4 form
the set
(—0032] [2] (23400) [8] (—o0; —2) U(2; +00) [4] [-2:2] [5] (—2i+00)

[1] o [2] 1 [3] -0,5 [4] —2 [s] -1
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